ITI Computer Operator and Programming Assistant (Python)
Module 16 Elective-1 Programming language (Python)

(1). Which one of the following has the highest precedence in the expression? | ﬁ?ﬁl’@ﬁﬁ

A foraet siftreafa & Tt gdar 82
(A) Division

(B) Subtraction

(C) Power

(D) Parentheses

Correct Answer : D

(2). a = int(input(”Enter an integer: ")) b = int(input(”Enter an integer: ”))ifa<=0:b=b +1
else:a=a+ 1| "a=int(input(””Enter an integer: ")) b = int(input("”Enter an integer: ")) Elﬁ'
a<=0:b=b+lelse:ta=a+1"

(A) if inputted number is a negative integer thenb =b +1 | W%W%QTWWW
BUMTHD YUITH g dl b=b +1

(B) if inputted number is a positive integer thena=a +1 | Uﬁwquﬂ@
TP YUITH g W a=a+1

(C) BothAandB | AGﬁTBﬁ
(D) No output | Tﬁéwqﬁ

Correct Answer : C

(3). What is the output of print('%x, %X’ % (15, 15))? | fiic ("% x, % X' % (15, 15)) DT 3T3CYc
FTE?

(A) FF
(B) 1515
(C) ff
(D) fF



Correct Answer : D

(4). Which platform is used to develop the business application in Python? | YT o

foreme Twfieer faeRa o3 & Rie fra wewid 1 3uanT faar srar 3»
(A) Matplotlib

(B) Pandas

(C) Tryton

(D) TimPlayer

Correct Answer : C

(5). What will be the output of the following Python code snippet? total={} def insert(items):
if items in total: total[items] += 1 else: total[items] = 1 insert('Apple’) insert('Ball’)

insert('Apple’) print (len(total)) | fFafafad yraya +is Ratue &1 ST3CYcC AT aTIT?
total={} def insert(items): if items in total: total[items] += 1 else: total[items] = 1
insert('Apple’) insert('Ball’) insert('Apple’) print (len(total))

(A) 2
(B) 1
(€) o
(D) 3

Correct Answer : A

(6). Which of the following Python statements will result in the output: 6? A = [[1, 2, 3], [4, 5,
6], [7, 8, 9]] | FEfIfEa & & #9 I1 Uy HY 3Seye H R 3M: 62 A= [[1, 2, 3],

[4,5,6],[7, 8,9]]
(A) A[2][1]
(B) A[1][2]
(C) AI3][2]
(D) A[2][3]

Correct Answer : B



(7). What will be the output of the following Python code snippet? >>> import collections >>>
a=collections.Counter([3,3,4,5]) >>> b=collections.Counter([3,4,4,5,5,5]) >>> a&b |

Frafafead uray= #is Rade &1 ST3CYcC AT BIIT? >>> import collections >>>

a=collections.Counter([3,3,4,5]) >>> b=collections.Counter([3,4,4,5,5,5]) >>> a&b
(A) Counter({3:12,4:1,5:1})

(B) Counter({3:1,4:1,5:1})

(C) Counter({4: 2})

(D) Counter({5: 1})

Correct Answer : B

(8). Which one of the following is not a keyword in Python language? | ﬁmﬁ@aﬁﬁﬁ-—r
T YIS Y HTYT A TP Slas T8l 872

(A) pass
(B) eval

(C) assert
(D) nonlocal

Correct Answer : B

(9). What is an array? | W@W%‘P

(A) Itis a special variable, which can hold more than one value at a time. | WWW
ANTTa 8, 51 U g | TP & 3ARIP A YR X GHdl §

(B) Itis a special variable, which can hold one value at a time. | meaﬁﬂaﬁ%, il

(C) Itis a special variable, which can hold two value at a time. | meaﬁ'@ﬁ %, S
TS TG H & 71 YR X GHdT 8

(D) Itis a special variable, which can hold three value at a time. | meaﬁ'@ﬁ %,
ST T 99 A I A9 YR &R IHdl g

Correct Answer : A



(10). The list.pop() function will__

(A) remove the first element from a list | m&‘tﬁ ﬁue?naaaaﬁ
(B) remove the last element from a list | wﬁiﬂﬁ arﬁ-m?rasa‘é
(C) none will be removed | waﬁmqﬁwﬂ

(D) both will be removed | GIFiI @1 geT faam sigm

Correct Answer : B

(11). Which of the following is used to define a block of code in Python language? | UTAY-

YTYT H IS & sATh Bl IR HA & fore fFAufafaa # | feae suai fear sirar
2

(A) Indentation | SScXIH
(B) Key | &I

(C) Brackets | PIFH

(D) Line break | AT S

Correct Answer : A

(12). Which of the following is the valid Python file extension? | fFHfIfad & & ST ATAY

Ty BT3el TRICT 82
(A) .python

(B) .pl

(C) .py

(D) .p

Correct Answer : C

(13). Class tester: def __init__(self, id): self.id = str(id) id="224" >>>temp = tester(12)
>>>print(temp.id)

(A) 12



(B) 224
(C) None | iﬁ'sc:lﬁ
(D) Error | T

Correct Answer : A

(14). x=13 if x>12 or x<15 and x==16: print("Given condition matched”) else: print("Given

condition did not match”) | x=13_x000D_ EI'% x>12 or x<15 and x==16:_x000D_ print("Given
condition matched”)_x000D _ else:_x000D_ print("Given condition did not match”)

(A) Given condition matched | E&ﬂgmﬁﬁﬁm—cﬁ%

(B) Given condition did not match | aﬁﬂs‘ﬁmﬁaqﬁ@ﬁ

(C) Both AandB | A 3R B g1\

(D) Abnormal termination of the program | UIITH BT SRATHTRT AT

Correct Answer : A

(15). Which one of the following is a valid Python if statement? | fFrafeIfad & @ 9 a1v®
HTY Python if@?ﬁf%?

(A) if a>=2:
(B) if (a>=2)
(C) if (a=>22)
(D) ifa>=22

Correct Answer : A

(16). What is the data type of print(type(OxFF))? | ﬁE(type(OxFF)) BT Sl CIU T %?
(A) number

(B) hexint

(C) hex

(D) int

Correct Answer : D



(17). What will be the output of the following? ‘Ist=['Python’, 'Java’, 'C++]
1st.insert(len(L1),’SQL’) print(Ist) | IELINITCRE) amgzwﬁmv "Ist=['"Python’, "Java’,
'C++'] 1st.insert(len(L1),'SQL’) print(Ist)

(A) ['Python’,'Java’, 'C++’, 'SQL']
(B) ['sQL’, 'Python’, 'Java’, 'C++']
(C) ['Python’,’sQL’, 'Java’, 'C++']
(D) ['Python’,Java’, 'SQL’, 'C++']

Correct Answer : A

(18). To add a new element to a list we use which Python command? | W'\‘Iﬁﬁﬂﬂﬁ

SgA & forw g0 frd Uy SHIS &1 ST #d 872
(A) Listl.addEnd(5)

(B) Listl.addLast(5)

(C) Listl.append(5)

(D) Listl.add(5)

Correct Answer : C

(19). What will be the result after the execution of above Python code? list1=[3,2,5,7,3,6]
list1.pop(3) print(list1) | SURIGT UTTY HIS & TG & d1¢ URUITH a1 gII?

list1=[3,2,5,7,3,6]_x000D_ listl.pop(3)_x000D _ print(list1)
(A) [3,2,5,3,6]

(B) [2,5,7,3,6]

(€) [2,5,7,6]

(D) [3,2,5,7,3,6]

Correct Answer : A

(20). Which of the following is not a core data type in Python programming? | ﬁ'ﬂﬁ'@ﬁﬁ

T DI T UTgY YR A $IR ST eI T8l 22



(A) Tuples | gUCH

(B) Lists | foree

(C) Class | FITT

(D) Dictionary | fSa==

Correct Answer : C

(21). How to use a control structure, in a Python program? | mmmﬁmm
BT SUANT HA He?

(A) Defines program-specific data structures | 'Fﬁ"JITFT-ﬁﬁ'I'E éﬂﬁ'\‘faﬁ gfHIiNa
HAT g

(B) Manages the input and output of control characters | a"TUﬁ?l PRFTFH <1Y9c 3R
3TICYC HT Y HaT 8

(C) Directs the order of execution of the statements in the program | tﬁumﬁ%%zﬁ'qv%

TRITgfed & o B ISR sear e

(D) Dictates what happens before the program starts and After it terminates. | T‘I'CTWT%

o5 MU 3= 311 T e 3R IS9P JHTW 811 & d1¢ T giar ¢l

Correct Answer : C

(22). i=5 if i>11 : print ("i is greater than 11"”) | i=5 ITI% i>11 : print ("i is greater than 11")
(A) No output | aﬁ'é mqﬁ

(B) Abnormal termination of program | TIITH B SRATATT JHTS

(C) Both A and B | A 3R B &IHI

(D) 5isgreaterthan11 | 5,11 A IS8

Correct Answer : C

(23). Suppose d = {“john”:40, “peter”:45}, to delete the entry for “john” what command do
we use? | Suppose d = {“john”:40, “peter”:45}, to delete the entry for “john” wmm

T AT Hd 82



(A) d.delete(“john”:40)
(B) d.delete(“john”)
(C) del d[“john”]

(D) del d(“john”:40)

Correct Answer : C

(24). What will be the output of the following Python code? i = 0 while i < 5: print(i) i += 1 if i

== 3: break else: print(0) | AT UGy ®IS HT 3MSTYe FT ERM? i = 0_x000D_
while i < 5:_x000D_ print(i)_x000D_i += 1_x000D_ if i == 3:_x000D_ break_x000D_
else:_x000D_ print(0)

(A) 0120
(B) 012
(C) 12
(D) error

Correct Answer : B

(25). Whether Python code compiled or interpreted? | T UTAY B8 Hebferd T ATET
frarmar g?

(A) Python code is both compiled and interpreted | UTIY B Jhferd Gﬁ?mﬁ%

(B) Python code is neither compiled nor interpreted | UTgY HIS 7 d Ahferd % MR ﬁ
ST I TS &

(C) Python code is only compiled | WWWWW%
(D) Python code is only interpreted | mmﬁgmmaﬁaﬁr%

Correct Answer : D

(26). Who developed the Python language? | UTaY= HTYT &1 fas1y fa fmar?
(A) Zim Den

(B) Guido van Rossum



(C) Niene Stom
(D) Wick van Rossum

Correct Answer : B

(27). What will be the output of the following Python code if the system date is 18th August,
2016? tday=datetime.date.today() print(tday.month()) | IBLIGIECE] Uy HIS BT
3TIeYe T g1 afe Rived $t a1 18 3R, 2016 2

tday=datetime.date.today()_x000D_ print(tday.month())
(A) 08

(B) 8

(C) August

(D) Aug

Correct Answer : B

(28). Suppose d = {“john”:40, “peter”:45}, what happens when we try to retrieve a value
using the expression d[“susan”]? | Suppose d = {“john”:40, “peter”:45}, dd a?IT % old gH

SfafRT &1 IUART HIb BIg AT YH: U B BT TATH Hd & d[“susan”]?

(A) Since “susan” is not a value in the set, Python raises a KeyError exception | ?iﬁ? “susan’

e U ®IS U 81 8, UTaU Ud Hoitge 3udrG 331dT 8

(B) Itis executed fine and no exception is raised, and it returns None | Eﬁ'oﬂﬁ@ﬁw

Tt SITaT 8 3R 1S 3ruaTe T8l SSTT SI1dT 8, 31k g IS T8l dierdr g

(C) Since “susan” is not a key in the set, Python raises a syntax error | iﬁ? “susan” U H

TSP Poil 181 8, Ty Ue Ricaq Ife SuaHars

(D) Since “susan” is not a key in the set, Python raises a KeyError exception | i\jl:ﬁ? “susan”

AT H TP Dol o1 8, AU TP Hoit I 3UATE ISTAT 8

Correct Answer : D

(29). What is the word (command) used to display numbers and text on the screen? | ThIF

TR B 3R TRe 3 ueRRfa $31 & e wyea a8 (FwHis) | 82

(A) print()



(B) input()
(C) output()
(D) command()

Correct Answer : A

(30). How to declare an array, you must use? | w@ﬁaﬁaaﬁ, \?rﬂ'qﬂ"ﬁm SUANT
ST A1RTN

(A) brackets| ]
(B) parenthesis()
(C) curly braces{ }
(D) pipes | |

Correct Answer : A

(31). If ['one’, 'four’, 'three’, two’] is a list object, the sort() function will return
(A) ['four’, 'three’, 'two’, ‘one’]

(B) [‘one’, 'two’, 'three’, 'four’]

(C) ['four’, 'one’, 'three’, 'two’]

(D) {"four”,”one”,"three”,"two"}

Correct Answer : C

(32). def foo(x): x[0] = ['def’] x[1] = ['abc’] return id(x) q = ['abc’, ‘def'] print(id(q) == foo(q))
(A) Error | el

(B) None | IS Tgl

(C) False | 3

(D) True | 9

Correct Answer : D



(33). Which one of the following has the same precedence level? | ﬁ'ﬁﬁ'@ﬂﬁﬁw
TASH WX U 82

(A) Division, Power, Multiplication, Addition and Subtraction | %ﬁT?FT, UIGES

AfeefRrpeM, SfEw ik axteRH

(B) Power and Division | UTaR U f&dieH

(C) Subtraction and Division | T aRT TS f&dter

(D) Division and Multiplication | f&dter T ufcef@rdz=

Correct Answer : D

(34). Which of the following is true for variable names in Python? | mmﬁaﬁua?r?m‘r

FRefgidsarad e

(A) Underscore and Ampersand are the only two special characters allowed | 3SITHIY Gﬁ?

THRAS $ad o W HRaex Pt 3rgAfd 2

(B) Unlimited Length | SAffIes dY

(C) All private members must have leading and Trailing underscores | mﬁumﬁvﬁaﬁ%
(D) Case-insensitive | MW—W

Correct Answer : B

(35). Select all the valid String creation in Python. | UTIY- A ot afers %‘T %@Hiﬂ
T B

(A) strl="'strl’ strl="strl"” strl ="'str"”

(B) strl ='strl’ strl ="strl"” strl =""'strl"

(C) strl = str(XY2)

(D) strl =str("XYZ")

Correct Answer : A

(36). How are data items added to an array? | mﬂﬁ%ﬁ@m Gﬂmﬁﬁﬁ%ﬁﬁ%’?



(A) Items are appended to the next free index | mﬁwuﬁs@wﬁﬁﬁ%aﬁ%

(B) In alphabetical order | eprafedd HH H

(C) Data may only be read from an array, sorry | @ETWW@@WGTWT%, Tt
(D) Whichever way you want | 3TU GG I ?'-I'I%

Correct Answer : A

(37). Which multimedia application was developed using Python? | UTIY BT UGN HIP

DI U1 Hee i saT efere e fam R fasar mar are
(A) Matplotlib

(B) Pandas

(C) Tryton

(D) TimPlayer

Correct Answer : D

(38). In Which language does Python is written? | gy fea Wﬁﬁl@TWﬁT%’
(A) English

(B) PHP

(c) ¢

(D) Chines

Correct Answer : C

(39). Which functions are used to accept input from the user? | W@WWW
& fore &1 T w1l &1 U fvar Smar 82

(A) raw_input()
(B) rawinput()
(C) input()
(D) string()



Correct Answer : C

(40). What keyword would you use to add an alternative condition to an if statement? |

fet if Wede # Iofeus HSIw SieA & forg sy fora #1as &1 STkt 31
(A) elseif

(B) elseif

(C) elif

(D) if else

Correct Answer : C

(41). The following is used to define a ___.d = { <key>: <value>, <key>: <value>, .. . <key>:
<value> } | TRHTEG $31 & fore FPufef@a a1 Sua feaT SIaT8a_ .d = { <key>:

<value>, <key>: <value>, . . . <key>: <value> }
(A) Group | U

(B) List | forRe

(C) Dictionary | st

(D) Tuple | &t

Correct Answer : C

(42). Which Program code making use of a given module is? | Mﬁqwnﬁ%imm
SUGRT H= qTET B AT TUTH HIS 82

(A) Client

(B) Interface

(C) Docstring

(D) Modularity

Correct Answer : A



(43). What does the following code print to console? if True: print(1001) else: print(2002) |

fruafefaa os aid w1 fiic HId1 87 if True:_x000D_ print(1001)_x000D_

else:_x000D_ print(2002)
(A) 1001

(B) 1

(C) 2002

(D)

Correct Answer : A

(44). In which year was the Python language developed? | UTdY- yTuT 31 A foog adf A
BT UT?

(A) 1995
(B) 1972
(C) 1981
(D) 1989

Correct Answer : D

(45). nums=list({1:'one’,2:'two’}) print(nums)
(A) Syntax Error

(B) [1,2]

(C) [‘one’, ‘two’]

(D) Runtime error

Correct Answer : B

(46). Which of the following operators is the correct option for power(ab)? | ﬁn;ri%r@aﬁ@r

P9 T 3ATYE power(ab) %ﬁl’[{'\‘lﬁﬁm%’?
(A) anb

(B) a**b



(C) arnrb
(D) ar*b

Correct Answer : B

(47). What will be the output of the following Python code snippet? 1)d = {"john":40,
"peter”:45} 2)"john” in d | FETITET UraY= s Rate &1 3SeYe FT T2 1)d =

{"john":40, "peter”:45} 2)"john” in d
(A) True | O

(B) False | 3T

(C) None | PIg gl

(D) Error | eIt

Correct Answer : A

(48). def f(x): def f1(*args, **kwargs): print(”Sanfoundry”) return x(*args, **kwargs) return f1
(A) any number of | foft oft Te A

(B) 0

(c) 1

(D) 2

Correct Answer : A

(49). Which of the following character is used to give single-line comments in Python? |

TRy H RiTTa-arga $e ¢4 & g e O 9 {59 dyaex &1 suai fear sman g2
(A) //
(B) #
() !
(D) /*

Correct Answer : B



(50). Which of the following is not used as loop in Python? | ﬁyﬁr@aﬁﬁww
TRy H U & 9 | 81 fopar srar 82

(A) forloop

(B) while loop
(C) do-while loop
(D) loop

Correct Answer : C



